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TR, RETUARKAMMA F 24,
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K-Means X% BN EFZIFHEANTHEENRREE R, X THENHEE, 7
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from sklearn.datasets import load digits
digits = load digits()
X = digits.data;
y = digits.target
# B0 SINRE TR
import time
start = time.process time ()
# =2 BT K-Means EHK
from sklearn.cluster import KMeans
KM = KMeans (n_clusters=10)
c = KM.fit predict (X)
end = time.process time ()
print ('Time is %.3f' % (end - start))
# V0D HERRAR
import numpy as np
y predict = np.zeros like(c)
from scipy.stats import mode
for i in range (10) :
mask = (c == 1)
y_predict[mask] = mode (y[mask]) [0]

KM.cluster centers .shape

# TP BREEDPO
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XFT K-Means B3ET 5, #E KHEZRCHE, T EAHEMFE B E K ERIE:
FRES R AR B Rk . 2 3-1 IR By . IREE, dlid K-Means B350 10 2L %4
PEHATRIE T ORGE I AURS 3-5 XA AT e T AR WS E , LI E R o
AR
®31 55. AEHREE

=2 B /em 1R /kg 58=2 B lem NG
1 159.3 60.5 11 185.3 81.0
2 160.3 60.2 12 161.3 62.2
3 165.2 60.4 13 164.2 64.4
4 162.5 62.1 14 163.5 65.1
5 175.4 75.1 15 176.4 75.1
6 178.6 75.3 16 185.6 85.3
7 177.1 78.2 17 175.1 78.0
8 176.4 75.4 18 168.4 60.4
9 189.4 85.8 19 187.4 80.8
10 176.2 73.7 20 185.2 79.7
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